
Fill in the Blanks Higher Derivatives 
 
 

𝒇(𝒙) 𝒇′(𝒙) 𝒇′′(𝒙) 𝒇′′′(𝒙) 𝒇𝟒(𝒙) 

𝑒3𝑥 3𝑒3𝑥 9𝑒3𝑥 27𝑒3𝑥 81𝑒3𝑥  
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ln(1 + 2𝑥) 
2

1 + 2𝑥
 −

4

(1 + 2𝑥)2
 

16

(1 + 2𝑥)3
 −

96

(1 + 2𝑥)4
 

𝑥𝑒2𝑥 𝑒2𝑥(1 + 2𝑥) 𝑒2𝑥(4 + 4𝑥) 𝑒2𝑥(12 + 8𝑥) 𝑒2𝑥(32 + 16𝑥) 

tan 𝑥 sec2𝑥 2 sec3𝑥 tan 𝑥 6 sec4𝑥 tan2𝑥 + 2 sec5𝑥 22 sec6𝑥 tan 𝑥 + 24 sec4𝑥 tan3𝑥 

𝑥 cos(2𝑥) −2𝑥 sin(2𝑥) + cos(2𝑥) −4 sin(2𝑥) − 4𝑥 cos(2𝑥) −12 cos(2𝑥) + 8𝑥 sin(2𝑥) 32 sin(2𝑥) + 16𝑥 cos(2𝑥) 

𝑥2𝑒−𝑥 𝑒−𝑥(2𝑥 − 𝑥2) 𝑒−𝑥(2 − 4𝑥 + 𝑥2) 𝑒−𝑥(−6 + 6𝑥 − 𝑥2) 𝑒−𝑥(12 − 8𝑥 + 𝑥2) 

sin2(−𝑥) −2 sin(−𝑥) cos(−𝑥) −2sin2(−𝑥) + 2cos2(−𝑥) 8 sin(−𝑥) cos(−𝑥) 8sin2(−𝑥) − 8cos2(−𝑥) 

𝑒𝑎+𝑏𝑥 𝑏𝑒𝑎+𝑏𝑥 𝑏2𝑒𝑎+𝑏𝑥 𝑏3𝑒𝑎+𝑏𝑥 𝑏4𝑒𝑎+𝑏𝑥 

 


